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ibp=jfpćo^_ibp
slirjb=fKc^kqfkbK

mobc^`b

_llh=cfopq^=grpq=j^k
`e^mqbo=fjK=jvofbi
`e^mqbo=ffjK=jvofbi=_b`ljbp=jK=tbi`ljb
`e^mqbo=fff^=e^oa=_fpelmof`=clo=^=dlla=_fpelm
`e^mqbo=fstlohp=`loobpmlkafkd=ql=tloap
`e^mqbo=sjlkpbfdkbro=_fbksbkr=j^ab=efp=`^ppl`hp=i^pq=qll=ilkd
`e^mqbo=sftel=dr^oaba=efp=elrpb=clo=efj
`e^mqbo=sff`o^s^qqb
`e^mqbo=sfffmefilplmev=^cqbo=aofkhfkd
`e^mqbo=fuqeb=_olqebo=^p=abmf`qba=_v=qeb=pfpqbo
`e^mqbo=uqeb=_fpelm=fk=qeb=mobpbk`b=lc=^k=rkhkltk=ifdeq
`e^mqbo=uf^=obpqof`qflk
`e^mqbo=uffqeb=plifqrab=lc=jlkpbfdkbro=tbi`ljb
`e^mqbo=ufffte^q=eb=_bifbsba
`e^mqbo=ufste^q=eb=qelrdeq

_llh=pb`lkaqeb=c^ii
`e^mqbo=fqeb=bsbkfkd=lc=^=a^v=lc=t^ihfkd
`e^mqbo=ffmorabk`b=`lrkpbiiba=ql=tfpaljK
`e^mqbo=fffqeb=ebolfpj=lc=m^ppfsb=l_bafbk`bK
`e^mqbo=fsabq^fip=`lk`bokfkd=qeb=`ebbpbJa^fofbp=lc=mlkq^oifboK
`e^mqbo=sqo^knrfiifqv
`e^mqbo=sfgb^k=s^igb^k
`e^mqbo=sffqeb=fkqboflo=lc=abpm^fo
`e^mqbo=sfff_fiiltp=^ka=pe^altp
`e^mqbo=fukbt=qolr_ibp
`e^mqbo=uqeb=j^k=^olrpba
`e^mqbo=ufte^q=eb=albp
`e^mqbo=uffqeb=_fpelm=tlohp
`e^mqbo=ufffifqqib=dbos^fp

_llh=qefoaKfk=qeb=vb^o=NUNT
`e^mqbo=fqeb=vb^o=NUNT
`e^mqbo=ff^=alr_ib=nr^oqbqqb
`e^mqbo=fffclro=^ka=clro
`e^mqbo=fsqeliljvbp=fp=pl=jboov=qe^q=eb=pfkdp=^=pm^kfpe=afqqv
`e^mqbo=s^q=_lj_^oa^Dp
`e^mqbo=sf^=`e^mqbo=fk=tef`e=qebv=^alob=b^`e=lqebo
`e^mqbo=sffqeb=tfpalj=lc=qeliljvbp
`e^mqbo=sfffqeb=ab^qe=lc=^=elopb
`e^mqbo=fu^=jboov=bka=ql=jfoqe

_llh=clroqeKql=`lkcfab=fp=pljbqfjbp=ql=abifsbo=fkql=^=mboplkDp=mltbo
`e^mqbo=flkb=jlqebo=jbbqp=^klqebo=jlqebo
`e^mqbo=ffcfopq=phbq`e=lc=qtl=rkmobmlppbppfkd=cfdrobp
`e^mqbo=fffqeb=i^oh

_llh=cfcqeKqeb=abp`bkqK
`e^mqbo=fqeb=efpqlov=lc=^=moldobpp=fk=_i^`h=di^pp=qofkhbqp
`e^mqbo=ffj^abibfkb
`e^mqbo=fffprjp=abmlpfqba=tfqe=i^ccfqqb
`e^mqbo=fsjK=j^abibfkb=fk=jlrokfkd
`e^mqbo=ss^drb=ci^pebp=lk=qeb=elofwlk
`e^mqbo=sfc^qebo=c^r`ebibsbkq
`e^mqbo=sffc^r`ebibsbkq=_b`ljbp=^=d^oabkbo=fk=m^ofp
`e^mqbo=sfffj^a^jb=sf`qrokfbk=bumbkap=qefoqv=co^k`p=lk=jlo^ifqv
`e^mqbo=fuj^a^jb=sf`qrokfbkDp=pr``bpp
`e^mqbo=uobpriq=lc=qeb=pr``bpp
`e^mqbo=uf`eofpqrp=klp=if_bo^sfq
`e^mqbo=uffjK=_^j^q^_lfpDp=fk^`qfsfqv
`e^mqbo=ufffqeb=plirqflk=lc=pljb=nrbpqflkp=`lkkb`qba=tfqe=qeb

_llh=pfuqeKg^sboq
`e^mqbo=fqeb=_bdfkkfkd=lc=obmlpb
`e^mqbo=ffelt=gb^k=j^v=_b`ljb=`e^jm

_llh=pbsbkqeKqeb=`e^jmj^qefbr=^cc^fo
`e^mqbo=fpfpqbo=pfjmif`b
`e^mqbo=ffqeb=mbopmf`^`fqv=lc=j^pqbo=p`^rcci^fob
`e^mqbo=fff^=qbjmbpq=fk=^=phrii
`e^mqbo=fsclojp=^pprjba=_v=prccbofkd=arofkd=pibbm
`e^mqbo=sefkao^k`bp
`e^mqbo=sfpfpqbo=pfjmif`b=mrq=ql=qeb=mollc
`e^mqbo=sffqeb=qo^sbiibo=lk=efp=^oofs^i=q^hbp=mob`^rqflkp=clo
`e^mqbo=sfff^k=bkqo^k`b=_v=c^slo
`e^mqbo=fu^=mi^`b=tebob=`lksf`qflkp=^ob=fk=mol`bpp=lc=cloj^qflk
`e^mqbo=uqeb=pvpqbj=lc=abkf^ip
`e^mqbo=uf`e^jmj^qefbr=jlob=^ka=jlob=^pqlkfpeba

_llh=bfdeqeK^=`lrkqboJ_ilt
`e^mqbo=ffk=te^q=jfoolo=jK=j^abibfkb=`lkqbjmi^qbp=efp=e^fo
`e^mqbo=ffc^kqfkb=e^mmv
`e^mqbo=fffg^sboq=p^qfpcfba
`e^mqbo=fs^rqelofqv=ob^ppboqp=fqp=ofdeqp
`e^mqbo=s^=prfq^_ib=qlj_
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slirjb=ffK`lpbqqb

_llh=cfopqKt^qboill
`e^mqbo=fte^q=fp=jbq=tfqe=lk=qeb=t^v=colj=kfsbiibp
`e^mqbo=ffelrdljlkq
`e^mqbo=fffqeb=bfdeqbbkqe=lc=grkbI=NUNR
`e^mqbo=fs^
`e^mqbo=sqeb=nrfa=l_p`rorj=lc=_^qqibp
`e^mqbo=sfclro=lD`il`h=fk=qeb=^cqbokllk
`e^mqbo=sffk^mliblk=fk=^=dlla=erjlo
`e^mqbo=sfffqeb=bjmbolo=mrqp=^=nrbpqflk=ql=qeb=drfab=i^`lpqb
`e^mqbo=fuqeb=rkbumb`qba
`e^mqbo=uqeb=mi^qb^r=lc=jlkqJp^fkqJgb^k
`e^mqbo=uf^=_^a=drfab=ql=k^mliblkX=^=dlla=drfab=ql=_rilt
`e^mqbo=uffqeb=dr^oa
`e^mqbo=ufffqeb=`^q^pqolmeb
`e^mqbo=ufsqeb=i^pq=pnr^ob
`e^mqbo=us`^j_olkkb
`e^mqbo=usfnrlq=if_o^p=fk=ar`b\
`e^mqbo=usfffp=t^qboill=ql=_b=`lkpfaboba=dlla\
`e^mqbo=usfff^=ob`orabp`bk`b=lc=afsfkb=ofdeq
`e^mqbo=ufuqeb=_^qqibJcfbia=^q=kfdeq

_llh=pb`lkaKqeb=pefm=loflk
`e^mqbo=fkrj_bo=OQISMN=_b`ljbp=krj_bo=VIQPM
`e^mqbo=fffk=tef`e=qeb=ob^abo=tfii=mborpb=qtl=sbopbpI=tef`e=^ob=lc=qeb
=====absfiDp=`ljmlpfqflkI=mlppf_iv
`e^mqbo=fffqeb=^khibJ̀ e^fk=jrpq=e^sb=rkabodlkb=^=`boq^fk=mobm^o^qlov
=====j^kfmri^qflk=ql=_b=qerp=_olhbk=tfqe=^=_ilt=colj=^=e^jjbo

_llh=qefoaK^``ljmifpejbkq=lc=qeb=moljfpb=j^ab=ql=qeb=ab^a=tlj^k
`e^mqbo=fqeb=t^qbo=nrbpqflk=^q=jlkqcbojbfi
`e^mqbo=ffqtl=`ljmibqb=mloqo^fqp
`e^mqbo=fffjbk=jrpq=e^sb=tfkbI=^ka=elopbp=jrpq=e^sb=t^qbo
`e^mqbo=fsbkqo^k`b=lk=qeb=p`bkb=lc=^=alii
`e^mqbo=sqeb=ifqqib=lkb=^ii=^ilkb
`e^mqbo=sftef`e=mlppf_iv=molsbp=_lri^qorbiibDp=fkqbiifdbk`b
`e^mqbo=sff`lpbqqb=pfab=_v=pfab=tfqe=qeb=pqo^kdbo=fk=qeb=a^oh
`e^mqbo=sfffqeb=rkmib^p^kqkbpp=lc=ob`bfsfkd=fkql=lkbDp=elrpb=^=mllo=j^k
=====tel=j^v=_b=^=of`e=j^k
`e^mqbo=fuqebk^oafbo=^ka=efp=j^klbrsobp
`e^mqbo=ueb=tel=pbbhp=ql=_bqqbo=efjpbic=j^v=obkabo=efp=pfqr^qflk=tlopb
`e^mqbo=ufkrj_bo=VIQPM=ob^mmb^opI=^ka=`lpbqqb=tfkp=fq=fk=qeb=ilqqbov

_llh=clroqeKqeb=dlo_b^r=elsbi
`e^mqbo=fj^pqbo=dlo_b^r
`e^mqbo=ff^=kbpq=clo=lti=^ka=^=t^o_ibo
`e^mqbo=fffqtl=jfpcloqrkbp=j^hb=lkb=mfb`b=lc=dlla=cloqrkb
`e^mqbo=fsqeb=obj^ohp=lc=qeb=mofk`fm^i=qbk^kq
`e^mqbo=s^=cfsbJco^k`=mfb`b=c^iip=lk=qeb=dolrka=^ka=molar`bp=^=qrjriq

_llh=cfcqeKclo=^=_i^`h=erkqI=^=jrqb=m^`h
`e^mqbo=fqeb=wfdw^dp=lc=pqo^qbdv
`e^mqbo=fffq=fp=ir`hv=qe^q=qeb=mlkq=aD^rpqboifqw=_b^op=`^oof^dbp
`e^mqbo=fffql=tfqI=qeb=mi^k=lc=m^ofp=fk=NTOT
`e^mqbo=fsqeb=dolmfkdp=lc=cifdeq
`e^mqbo=stef`e=tlria=_b=fjmlppf_ib=tfqe=d^p=i^kqbokp
`e^mqbo=sfqeb=_bdfkkfkd=lc=^k=bkfdj^
`e^mqbo=sff`lkqfkr^qflk=lc=qeb=bkfdj^
`e^mqbo=sfffqeb=bkfdj^=_b`ljbp=alr_iv=jvpqboflrp
`e^mqbo=fuqeb=j^k=tfqe=qeb=_bii
`e^mqbo=utef`e=bumi^fkp=elt=g^sboq=dlq=lk=qeb=p`bkq

_llh=pfuqeKib=mbqfqJmf`mrp
`e^mqbo=fkrj_bo=SO=orb=mbqfqJmf`mrp
`e^mqbo=ffqeb=l_bafbk`b=lc=j^oqfk=sbod^
`e^mqbo=fff^rpqbofqfbp
`e^mqbo=fsd^vbqfbp
`e^mqbo=safpqo^`qflkp
`e^mqbo=sfqeb=ifqqib=`lksbkq
`e^mqbo=sffpljb=pfielrbqqbp=lc=qefp=a^ohkbpp
`e^mqbo=sfffmlpq=`loa^=i^mfabp
`e^mqbo=fu^=`bkqrov=rkabo=^=drfjmb
`e^mqbo=ulofdfk=lc=qeb=mbombqr^i=^alo^qflk
`e^mqbo=ufbka=lc=qeb=mbqfqJmf`mrp

_llh=pbsbkqeKm^obkqebpfp
`e^mqbo=fqeb=`lksbkq=^p=^k=^_pqo^`q=fab^
`e^mqbo=ffqeb=`lksbkq=^p=^k=efpqlof`^i=c^`q
`e^mqbo=ffflk=te^q=`lkafqflkp=lkb=`^k=obpmb`q=qeb=m^pq
`e^mqbo=fsqeb=`lksbkq=colj=qeb=mlfkq=lc=sfbt=lc=mofk`fmibp
`e^mqbo=smo^vbo
`e^mqbo=sfqeb=^_plirqb=dllakbpp=lc=mo^vbo
`e^mqbo=sffmob`^rqflkp=ql=_b=l_pbosba=fk=_i^jb
`e^mqbo=sfffc^fqeI=i^t

_llh=bfdeqeK`bjbqbofbp=q^hb=qe^q=tef`e=fp=`ljjfqqba=qebj
`e^mqbo=ftef`e=qob^qp=lc=qeb=j^kkbo=lc=bkqbofkd=^=`lksbkq
`e^mqbo=ffc^r`ebibsbkq=fk=qeb=mobpbk`b=lc=^=afccf`riqv
`e^mqbo=fffjlqebo=fkkl`bkqb
`e^mqbo=fsfk=tef`e=gb^k=s^igb^k=e^p=nrfqb=qeb=^fo=lc=e^sfkd=ob^a
`e^mqbo=sfq=fp=klq=kb`bpp^ov=ql=_b=aorkh=fk=loabo=ql=_b=fjjloq^i
`e^mqbo=sf_bqtbbk=clro=mi^khp
`e^mqbo=sfffk=tef`e=tfii=_b=clrka=qeb=lofdfk=lc=qeb=p^vfkdW=alkDq=ilpb=qeb=`^oa
`e^mqbo=sfff^=pr``bppcri=fkqboold^qlov
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`e^mqbo=fu`ilfpqboba

slirjb=fffj^ofrpK

_llh=cfopqKm^ofp=pqrafba=fk=fqp=^qlj
`e^mqbo=fm^osrirp
`e^mqbo=ffpljb=lc=efp=m^oqf`ri^o=`e^o^`qbofpqf`p
`e^mqbo=fffeb=fp=^dobb^_ib
`e^mqbo=fseb=j^v=_b=lc=rpb
`e^mqbo=sefp=colkqfbop
`e^mqbo=sf^=_fq=lc=efpqlov
`e^mqbo=sffqeb=d^jfk=pelria=e^sb=efp=mi^`b=fk=qeb=`i^ppfcf`^qflkp=lc=fkaf^
`e^mqbo=sffffk=tef`e=qeb=ob^abo=tfii=cfka=^=`e^ojfkd=p^vfkd=lc=qeb=i^pq=hfkd
`e^mqbo=fuqeb=lia=plri=lc=d^ri
`e^mqbo=ub``b=m^ofpI=b``b=eljl
`e^mqbo=ufql=p`lccI=ql=obfdk
`e^mqbo=uffqeb=crqrob=i^qbkq=fk=qeb=mblmib
`e^mqbo=ufffifqqib=d^sol`eb

_llh=pb`lkaKqeb=dob^q=_lrodblfp
`e^mqbo=fkfkbqv=vb^op=^ka=qefoqvJqtl=qbbqe
`e^mqbo=ffifhb=j^pqboI=ifhb=elrpb
`e^mqbo=fffirJ̀bpmofq
`e^mqbo=fs^=`bkqbk^of^k=^pmfo^kq
`e^mqbo=s_^pnrb=^ka=kf`libqqb
`e^mqbo=sffk=tef`e=j^dklk=^ka=ebo=qtl=`efiaobk=^ob=pbbk
`e^mqbo=sfforibW=ob`bfsb=kl=lkb=bu`bmq=fk=qeb=bsbkfkd
`e^mqbo=sfffqtl=al=klq=j^hb=^=m^fo

_llh=qefoaKqeb=do^kac^qebo=^ka=qeb=do^kaplk
`e^mqbo=f^k=^k`fbkq=p^ilk
`e^mqbo=fflkb=lc=qeb=oba=pmb`qobp=lc=qe^q=bml`e
`e^mqbo=fffobnrfbp`^kq
`e^mqbo=fsbka=lc=qeb=_ofd^ka
`e^mqbo=sqeb=rqfifqv=lc=dlfkd=ql=j^ppI=fk=loabo=ql=_b`ljb=^=obslirqflkfpq
`e^mqbo=sfqeb=`lkpbnrbk`bp=lc=e^sfkd=jbq=^=t^oabk
`e^mqbo=sffpljb=mbqqf`l^q
`e^mqbo=sfffj^o_ib=^d^fkpq=do^kfqb

_llh=clroqeKqeb=cofbkap=lc=qeb=^=_=`
`e^mqbo=f^=dolrm=tef`e=_^obiv=jfppba=_b`ljfkd=efpqlof`
`e^mqbo=ff_ilkab^rDp=crkbo^i=lo^qflk=_v=_lpprbq
`e^mqbo=fffj^ofrpD=^pqlkfpejbkqp
`e^mqbo=fsqeb=_^`h=ollj=lc=qeb=`^cb=jrp^fk
`e^mqbo=sbki^odbjbkq=lc=elofwlk
`e^mqbo=sfobp=^kdrpq^

_llh=cfcqeKqeb=bu`biibk`b=lc=jfpcloqrkb
`e^mqbo=fj^ofrp=fkafdbkq
`e^mqbo=ffj^ofrp=mllo
`e^mqbo=fffj^ofrp=doltk=rm
`e^mqbo=fsjK=j^_brc
`e^mqbo=smlsboqv=^=dlla=kbfde_lo=clo=jfpbov
`e^mqbo=sfqeb=pr_pqfqrqb

_llh=pfuqeKqeb=`lkgrk`qflk=lc=qtl=pq^op
`e^mqbo=fqeb=pl_ofnrbqW=jlab=lc=cloj^qflk=lc=c^jfiv=k^jbp
`e^mqbo=ffiru=c^`q^=bpq
`e^mqbo=fffbccb`q=lc=qeb=pmofkd
`e^mqbo=fs_bdfkkfkd=lc=^=dob^q=j^i^av
`e^mqbo=safsop=`i^mp=lc=qerkabo=c^ii=lk=j^D^j=_lrdlk
`e^mqbo=sfq^hbk=mofplkbo
`e^mqbo=sff^asbkqrobp=lc=qeb=ibqqbo=r=abifsboba=lsbo=ql=`lkgb`qrobp
`e^mqbo=sfffqeb=sbqbo^kp=qebjpbisbp=`^k=_b=e^mmv
`e^mqbo=fub`ifmpb

_llh=pbsbkqeKm^qolk=jfkbqqb
`e^mqbo=fjfkbp=^ka=jfkbop
`e^mqbo=ffqeb=iltbpq=abmqep
`e^mqbo=fff_^_bqI=drbribjboI=`i^nrbplrpI=^ka=jlkqm^ok^ppb
`e^mqbo=fs`ljmlpfqflk=lc=qeb=qolrmb

_llh=bfdeqeKqeb=tf`hba=mllo=j^k
`e^mqbo=fj^ofrpI=tefib=pbbhfkd=^=dfoi=fk=^=_lkkbqI=bk`lrkqbop=^=j^k=fk=^=`^m
`e^mqbo=ffqob^prob=qolsb
`e^mqbo=fffnr^aofcolkp
`e^mqbo=fs^=olpb=fk=jfpbov
`e^mqbo=s^=molsfabkqf^i=mbbmJelib
`e^mqbo=sfqeb=tfia=j^k=fk=efp=i^fo
`e^mqbo=sffpqo^qbdv=^ka=q^`qf`p
`e^mqbo=sfffqeb=o^v=lc=ifdeq=fk=qeb=elsbi
`e^mqbo=fuglkaobqqb=`ljbp=kb^o=tbbmfkd
`e^mqbo=uq^ofcc=lc=if`bkpba=`^_pW=qtl=co^k`p=^k=elro
`e^mqbo=uflccbop=lc=pbosf`b=colj=jfpbov=ql=tobq`ebakbpp
`e^mqbo=uffqeb=rpb=j^ab=lc=jK=ib_i^k`Dp=cfsbJco^k`=mfb`b
`e^mqbo=ufffplirp=`rj=plilI=fk=il`l=objlqlI=klk=`ldfq^_rkqro=lo^ob
`e^mqbo=ufsfk=tef`e=^=mlif`b=^dbkq=_bpqltp=qtl=cfpqcrip=lk=^=i^tvbo
`e^mqbo=usglkaobqqb=j^hbp=efp=mro`e^pbp
`e^mqbo=usffk=tef`e=tfii=_b=clrka=qeb=tloap=ql=^k=bkdifpe=^fo=tef`e
=====t^p=fk=c^peflk=fk=NUPO
`e^mqbo=usffqeb=rpb=j^ab=lc=j^ofrpD=cfsbJco^k`=mfb`b
`e^mqbo=usfffj^ofrpD=qtl=`e^fop=cloj=^=sfpĴJsfp
`e^mqbo=uful``rmvfkd=lkbDp=pbic=tfqe=l_p`rob=abmqep
`e^mqbo=uuqeb=qo^m
`e^mqbo=uuflkb=pelria=^it^vp=_bdfk=_v=^oobpqfkd=qeb=sf`qfjp
`e^mqbo=uuffqeb=ifqqib=lkb=tel=t^p=`ovfkd=fk=slirjb=qtl
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slirjb=fsKp^fkqJabkfpK

_llh=cfopqK^=cbt=m^dbp=lc=efpqlov
`e^mqbo=ftbii=`rq
`e^mqbo=ff_^aiv=pbtba
`e^mqbo=fffilrfp=mefifmmb
`e^mqbo=fs`o^`hp=_bkb^qe=qeb=clrka^qflk
`e^mqbo=sc^`qp=tebk`b=efpqlov=pmofkdp=^ka=tef`e=efpqlov=fdklobp
`e^mqbo=sfbkglio^p=^ka=efp=ifbrqbk^kqp

_llh=pb`lkaKbmlkfkb
`e^mqbo=fqeb=i^ohDp=jb^alt
`e^mqbo=ffbj_ovlkf`=cloj^qflk=lc=`ofjbp=fk=qeb=fk`r_^qflk=lc=mofplkp
`e^mqbo=fff^mm^ofqflk=ql=c^qebo=j^_brc
`e^mqbo=fs^k=^mm^ofqflk=ql=j^ofrp

_llh=qefoaKqeb=elrpb=fk=qeb=orb=mirjbq
`e^mqbo=fqeb=elrpb=tfqe=^=pb`obq
`e^mqbo=ffgb^k=s^igb^k=^p=^=k^qflk^i=dr^oa
`e^mqbo=fffcliffp=^`=colkaf_rp
`e^mqbo=fs`e^kdb=lc=d^qb
`e^mqbo=sqeb=olpb=mbo`bfsbp=qe^q=fq=fp=^k=bkdfkb=lc=t^o
`e^mqbo=sfqeb=_^qqib=_bdrk
`e^mqbo=sffql=lkb=p^akbpp=lmmlpb=^=p^akbpp=^ka=^=e^ic
`e^mqbo=sfffqeb=`e^fkJd^kd

_llh=clroqeKpr``lo=colj=_bilt=j^v=qrok=lrq=ql=_b=pr``lo=colj=lk=efde
`e^mqbo=f^=tlrka=tfqelrqI=eb^ifkd=tfqefk
`e^mqbo=ffjlqebo=mirq^onrb=cfkap=kl=afccf`riqv=fk=bumi^fkfkd=^=mebkljbklk

_llh=cfcqeKqeb=bka=lc=tef`e=albp=klq=obpbj_ib=qeb=_bdfkkfkd
`e^mqbo=fplifqrab=^ka=qeb=_^oo^`hp=`lj_fkba
`e^mqbo=ff`lpbqqbDp=^mmobebkpflkp
`e^mqbo=fffbkof`eba=tfqe=`ljjbkq^ofbp=_v=qlrpp^fkq
`e^mqbo=fs^=eb^oq=_bkb^qe=^=pqlkb
`e^mqbo=s`lpbqqb=^cqbo=qeb=ibqqbo
`e^mqbo=sflia=mblmib=^ob=j^ab=ql=dl=lrq=lmmloqrkbiv

_llh=pfuqeKifqqib=d^sol`eb
`e^mqbo=fqeb=j^if`flrp=mi^vcrikbpp=lc=qeb=tfka
`e^mqbo=fffk=tef`e=ifqqib=d^sol`eb=buqo^`qp=molcfq=colj=k^mliblk=qeb=dob^q
`e^mqbo=fffqeb=sf`fppfqrabp=lc=cifdeq

_llh=pbsbkqeKpi^kd
`e^mqbo=flofdfk
`e^mqbo=ffollqp
`e^mqbo=fffpi^kd=tef`e=tbbmp=^ka=pi^kd=tef`e=i^rdep
`e^mqbo=fsqeb=qtl=arqfbpW=ql=t^q`e=^ka=ql=elmb

_llh=bfdeqeKbk`e^kqjbkqp=^ka=abpli^qflkp
`e^mqbo=fcrii=ifdeq
`e^mqbo=ffqeb=_btfiabojbkq=lc=mbocb`q=e^mmfkbpp
`e^mqbo=fffqeb=_bdfkkfkd=lc=pe^alt
`e^mqbo=fs^=`^_=orkp=fk=bkdifpe=^ka=_^ohp=fk=pi^kd
`e^mqbo=sqefkdp=lc=qeb=kfdeq
`e^mqbo=sfj^ofrp=_b`ljbp=mo^`qf`^i=lk`b=jlob=ql=qeb=buqbkq=lc=dfsfkd
=====`lpbqqb=efp=^aaobpp
`e^mqbo=sffqeb=lia=eb^oq=^ka=qeb=vlrkd=eb^oq=fk=qeb=mobpbk`b=lc=b^`e=lqebo
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`e^mqbo=fgb^k=s^igb^k
`e^mqbo=ffj^ofrp
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`e^mqbo=fqeb=proc^`b=lc=qeb=nrbpqflk
`e^mqbo=ffqeb=ollq=lc=qeb=j^qqbo
`e^mqbo=fff^=_rof^iX=^k=l``^pflk=ql=_b=_lok=^d^fk
`e^mqbo=fsqeb=b_riifqflkp=lc=clojbo=a^vp
`e^mqbo=slofdfk^ifqv=lc=m^ofp
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`e^mqbo=ffd^sol`eb=lk=qeb=j^o`e
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`e^mqbo=fsqeb=`efia=fp=^j^wba=^q=qeb=lia=j^k
`e^mqbo=sqeb=lia=j^k
`e^mqbo=sfob`orfqp

_llh=qtbicqeK`lofkqeb
`e^mqbo=fefpqlov=lc=`lofkqeb=colj=fqp=clrka^qflk
`e^mqbo=ffmobifjfk^ov=d^vbqfbp
`e^mqbo=fffkfdeq=_bdfkp=ql=abp`bka=rmlk=do^kq^fob
`e^mqbo=fs^k=^qqbjmq=ql=`lkplib=qeb=tfalt=er`ebilrm
`e^mqbo=smobm^o^qflkp
`e^mqbo=sft^fqfkd
`e^mqbo=sffqeb=j^k=ob`orfqba=fk=qeb=orb=abp=_fiibqqbp
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`e^mqbo=ffqeb=ci^dW=^`q=pb`lka
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`e^mqbo=ufffm^ppfkd=dib^jp
`e^mqbo=ufstebobfk=tfii=^mmb^o=qeb=k^jb=lc=bkglio^pD=jfpqobpp
`e^mqbo=usd^sol`eb=lrqpfab
`e^mqbo=usfelt=colj=^=_olqebo=lkb=_b`ljbp=^=c^qebo
`e^mqbo=usffjloqrrp=m^qbo=cfifrj=jlofqrorj=bumb`q^q
`e^mqbo=usfffqeb=sriqrob=_b`ljb=mobv
`e^mqbo=ufugb^k=s^igb^k=q^hbp=efp=obsbkdb
`e^mqbo=uuqeb=ab^a=^ob=fk=qeb=ofdeq=^ka=qeb=ifsfkd=^ob=klq=fk=qeb=tolkd
`e^mqbo=uufqeb=ebolbp
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`e^mqbo=ff^k`fbkq=efpqlov=lc=qeb=pbtbo
`e^mqbo=fff_orkbpb^r
`e^mqbo=fs_orkbpb^rK
`e^mqbo=smobpbkq=moldobpp
`e^mqbo=sfcrqrob=moldobpp

_llh=qefoaKjra=_rq=qeb=plri
`e^mqbo=fqeb=pbtbo=^ka=fqp=promofpbp
`e^mqbo=ffbumi^k^qflk
`e^mqbo=fffqeb=?pmrk?=j^k
`e^mqbo=fseb=^ipl=_b^op=efp=`olpp
`e^mqbo=sfk=qeb=`^pb=lc=p^ka=^p=fk=qe^q=lc=tlj^kI=qebob=fp=^=cfkbkbpp
=====tef`e=fp=qob^`ebolrp
`e^mqbo=sfqeb=clkqfp
`e^mqbo=sfflkb=pljbqfjbp=orkp=^dolrka=tebk=lkb=c^k`fbp=qe^q=lkb=fp=afpbj_^ohfkd
`e^mqbo=sfffqeb=qlok=`l^qJq^fi
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=====ql=obkabo=`lpbqqb=e^mmv
`e^mqbo=sffqeb=bccb`qp=lc=aob^jp=jfkdiba=tfqe=e^mmfkbpp
`e^mqbo=sfffqtl=jbk=fjmlppf_ib=ql=cfka

_llh=pfuqeKqeb=pibbmibpp=kfdeq
`e^mqbo=fqeb=NSqe=lc=cb_or^ovI=NUPP
`e^mqbo=ffgb^k=s^igb^k=pqfii=tb^op=efp=^oj=fk=^=pifkd
`e^mqbo=fffqeb=fkpbm^o^_ib
`e^mqbo=fsqeb=fjjloq^i=ifsbo

_llh=pbsbkqeKqeb=i^pq=ao^rdeq=colj=qeb=`rm
`e^mqbo=fqeb=pbsbkqe=`fo`ib=^ka=qeb=bfdeqe=eb^sbk
`e^mqbo=ffqeb=l_p`rofqfbp=tef`e=^=obsbi^qflk=`^k=`lkq^fk

_llh=bfdeqeKc^afkd=^t^v=lc=qeb=qtfifdeq
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